KEY

Applications of LOS end LOC

L A7 m long post supports a tree at a point 5 m up the trunk. The post makes an angle of 45°
with the ground. Determine the cngle the tree mckes with the ground.
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And:lg wouS
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820 or 4%°

2. Tomeasure the length of a pond, a surveyor places stakes at points A, 8, and Cand
measures A31obe 23.1m, BCto be 15.4 mand £ Bto be 38.5°. What is the length of the
pord 1o the necrest tenth of c metre?

When planning a local park, the designers wanted to include three ponds (4, 8, and C) with a

3. fountain in the middle of each pond. The following information is known. The distance
between pend A and pond Bis 100 m and the distence between pond 8and pond Cis 120 m.
The angle pond A mckes with the other two ponds is 65°. Determine the distence between
pond Acnd pond £

LoS
Awbiguous

Case

In order to plon a tunnel through a mountain, @ surveyor makes the measurements shown.
Use the surveyor's measurements to determine the length of the tunnel to the necrest
metre.

LoC

5. The three merkers in a triengular sailing course eround an island are shown it the diegrem.
The instructors would like each of the angles to be less then 70°. Will this design be
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